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The interest charged on a $100,000 note payable, at the rate of 6%, on a 90-day note would be
(A)$6,000. (B)$3,333. (C)$1,500. (D)$500.

A truck was purchased for $18,000 and it was estimated to have a $3,000 salvage value at the

end of its useful life. Monthly depreciation expense of $250 was recorded using the straight-line
method. The annual depreciation rate is

(A)25%. (B)R2%. (C)16%. (D)20%.

At December 31, 2010, before any year-end adjustments, Bollis Company's Prepaid Insurance
account had a balance of $2,700. It was determined that $1,000 of the Prepaid Insurance had
expired. The adjusted balance for Insurance Expense for the year would be:

(A)$1,000. (B)$1,700. (C)$2,700.  (D)$1,400.

Common Stock Dividends Distributable is classified as a(n)
(A)asset account.  (B)stockholders’ equity account.  (C)expense account.
(D)liability account. ’

10. Using the percentage of receivables method for recording bad debts expense, estimated

uncollectible accounts are $25,000. If the balance of the Allowance for Doubtful Accounts is

$8,000 debit before adjustment what is the balance after adjustment?
(A)$25,000 (B)$8,000 (C)$33,000 (D)$17,000
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The comparative balance sheets for Gallup Company appear below:
GALLUP COMPANY
Comparative Balance Sheet
Dec. 31,2010 Dec, 31, 2009
Assets

Cash $ 28,000 $13,000
Accounts receivable 18,000 ' 14,000
Prepaid expenses 7,000 9,000
Inventory _ 25,000 15,000
Long-term investments -0- 18,000
Equipment 60,000 30,000
Accumulated deprecmtlon-equlpment (18.000) (14,000)

Total assets , £120.000 £82.000

Liabilities and Stockholders' Equi

Accounts payable $ 25,000 $ 7,000
Bonds payable 37,000 - 45,000
Common stock 40,000 23,000
Retained eamnings 18.000 10,000

Total liabilities and stockholders' equity $120.000 £85,000

Additional in tion: '

1. Net income for the year ending December 31, 2010 was $25,000,

2. Cash dividends of $17,000 were declared and paid during the year.

3. Long-term investments that had a book value of $18,000 were sold for $16, 000
4. Sales for 2010 are $120,000.

Instructions

1.Prepare a statement of cash flows for the year ended December 31, 2010, using the indirect method.(20%)
2.Compute the following cash based ratios:

(a) Current cash debt coverage ratio(5%)
_(b) Cash debt coverage ratio (5%)
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The December 31, 2009, balance sheet of the Kramer Company had Accounts Receivable of
$650,000 and a credit balance in Allowance for Doubtful Accounts of $33,000. During 2010, the
following transactions occurred: sales on account $1,420,000; sales returns and allowances,
$100,000; collections from customers, $1,250,000; accounts written off, $35,000; previously written
off accounts of $5,000 were collected.

Instructions

(&) Journalize the 2010 transactions.(18%)

(b) If the company uses the percentage of receivables basis to estimate bad debt expense and
determines that uncollectible accounts are expected to be 6% of accounts receivable, what is
the adjusting entry at December 31, 20102(2%)
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